Algebra IIb
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y-ints: (D,—6>

ints: f 3}

GC-2
Solutions
|)2x—y:6 z)y:‘x|+2
maxs: none maxs: NoNe
mins: N O/*le mins: (©,2)
left restriction: — 00 o aon@ left restriction: — =2 o rone
right restriction: ¢0 oc nene right restriction:

00O or Nonge

y-ints: (0,2)

x- ints:

NoNQ

3) y=+16-x*

4)y:*%(x—l)2+3

maxs: (0,%) maxs: (1,3)
mins: (“4,0) and &,0) mins: NoNe@
left restriction: %= -4 left restriction: — 6@ o none
right restriction: X =Y right restriction: ©© or ner®
y-ints: (o, LD y-ints: (0,2 .‘5)
x- ints: 5’1 1{} x-ints: 3_)45 34 §}
5)y=x"-3x+1 6) y=\x+9
maxs: relakve: (-3 maxs: None
mins: celotive - (l/-D mins: (-7 O>
left restriction: — 00 . pone left restriction: :/_?
right restriction: ©© oc none right restriction: c© o none
y-ints: (o, D y-ints: (0, %)
x- ints: §~I.S§?/ /533> x- ints: Z_ q}
7)y:x4—2x2 8)x? + y* = 25
maxs: celatye: (0,0) maxs: (o, S)
mins: (—1,- D and (1,- D mins: CD/‘CD
left restriction: —00 oc none left restriction: x— S
right restriction: oo or nere right restriction: <=5
y-ints: (o) &) yrints: (0,5 and (0,-)
x- ints: Ei' .4 I% x- ints:

7-5,53




